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Business Succession Planning 

           ع ل

Module One: Review Questions 
 

 : الأولىمراجعة الوحدة 
 

1.) Which of the following statements is true? 

a) Succession planning and replacement 

planning are the same thing 

b) Replacement planning is focused on 

identifying immediate understudies 

c) Succession planning is focused on 

identifying immediate understudies 

d) Replacement planning is focused on 

developing talent to move forward 

 

 (  ي      ع              ص  ح؟1

    يء          ع قب               ل     ن س ( 

    ز              ل ع ى          لاب          (ب

    ز ع ى            ئل                لاف  (ج

    ز              ل ع ى             ب    ضي ق ً   ( 

 

  

2.) Succession planning is focused on 

developing leadership, but it also builds a 

strong: 

a) Financial base 

b) Organizational base 

c) Cooperating base 

d) Talent base 

 

 :ق ة (    ز          ع قب ع ى             ة ،   نه   ني   ضً 2

     ع ة         ( 

     ع ة    ن      (ب

     ع ة     ع  ن  (ج

 ق ع ة       ب ( 

 

  

3.) Replacement planning works under the 

assumption that:  

a) The structure of the organization will 

not change 

b) The finance of the organization will not 

change 

c) The business partners of the 

organization will not change 

d) The goals of the organization will not 

change 

 

 (  ع ل              ل ع ى  ف   ض      ي:3

      غ      ل    ن    ( 

   غ       ل    ن       (ب

      غ       ء   ع ل في    ن    (ج

      غ       ف    ن    ( 
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4.) Replacement planning works under the 

assumption that:  

a) The structure of the organization will 

not change 

b) The finance of the organization will not 

change 

c) The business partners of the 

organization will not change 

d) The goals of the organization will not 

change 

 

 (              ل   هل       ق في:4

    ن           ة ( 

           ع ئ      صغ  ة (ب

    ن        ي  ه ف إ ى   ن           (ج

           ه    ه    في  ي      -    ج  ق ع ة  ( 

 

  

5.) Which of the following statements IS NOT 

true? 

a) Replacement planning focuses on 

finding suitable replacements only for 

top executives 

b) Succession planning builds a large 

talent pool 

c) There is a short list of candidates in 

replacement planning 

d) Succession planning takes a little less 

time and effort from those in leadership 

 

 (  ي      ع              غ   ص  ح؟5

   ز              ل ع ى إ ج      ئل  ن            ( 

             ن       ف  

          ع قب   ني  ج  ع      ة          ب (ب

             ل  ج  ق ئ      ص ة           في   (ج

   غ            ع قب  ق ً   جهً    قل       ئ         ( 

              ة

 

  

6.) Succession planning means that the 

company is easily able to fill vacancies 

throughout the business because: 

a) It counts on more employees 

b) Employees are being empowered and 

developed 

c) Employees feel obligated to work 

harder 

(  عني          ع قب           ق   ة   ه    ع ى  لء 6

      ئف     غ ة في ج     ن  ء   ع ل  لأ   ب        :

  ع    ع ى    ز               ( 

        م  م                 (ب

   ع            أنهم   ز       ع ل  ج         (ج

                في    ز        ن    ( 
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d) Employees participate in more activities 

 

 

 

 

  

7.) Which of the following IS NOT one of the 

factors that indicate when a company 

needs to implement or re-evaluate 

succession planning? 

a) There are no replacements for key 

talent 

b) The retention risk analysis is high 

c) Employees are often in private 

arguments 

d) Managers notice that there are not 

many candidates for promotion 

 

(  ي       ي   س      ع   ل    ي      إ ى   ى     ج        7

          ع قب؟إ ى  ن       إع  ة     م 

     ج     ئل       ب    ئ     ( 

     ل                     (ب

 غ   ً                   في ن        ص  (ج

               نه     ج                         ق   ( 

 

  

8.) Which of the following IS NOT one of the 

factors that indicate when a company 

needs to implement or re-evaluate 

succession planning? 

a) There are no replacements for key 

talent 

b) The retention risk analysis is high 

c) Employees are often in private 

arguments 

d) Managers notice that there are not 

many candidates for promotion 

 

  ع   ل    ي      إ ى   ى     ج         ي       ي   س     8) 

 إ ى  ن       إع  ة     م          ع قب؟

     ج     ئل       ب    ئ     ( 

     ل                     (ب

 غ   ً                   في ن        ص  (ج

               نه     ج                         ق   ( 

 

  

9.) _____________ planning and 

_______________planning are two different 

things.  

a) Meal, Replacement 

b) Succession, Meal 

 (9 ______________           _____________

               ئ          .

    ج   ،        ل ( 

    لاف  ،    ج   (ب

    لاف          ل (ج
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c) Succession, Replacement 

d) Successful, Replacement 

 

        ل   ن جح ( 

 

  

10.) Successful succession planning is related 

to_________ development.  

a) Leadership  

b) Profit 

c) A and B 

d) Neither A nor B 

 

                ع قب   ن جح          _________.10) 

       ة ( 

     ح (ب

     ب (ج

        ب ( 

 

 

Module Two: Review Questions 
 

 : الثانيةمراجعة الوحدة 
 

1.) Which of the following IS NOT one of the 

common parameters necessary before 

creating a succession plan? 

a) Forecasting future needs 

b) Detecting key roles 

c) Creating action plans 

d) Creating a backup plan 

 

      ي      ل        ع                لاز   ق ل إن  ء  (  ي1

        ع قب؟

    ن ؤ        ج              ( 

     ف ع            ئ     (ب

  ض        ع ل (ج

 إن  ء              ( 

 

  

2.) Determining methods for hiring and 

retaining employees is particularly 

important in: 

a) Lower positions 

b) Key positions 

c) Certain several positions 

d) Any position 

 

 (            ع                       هم  هم    ل   ص في:2

    ن صب    ن   ( 

    ن صب    ئ     (ب

 ع ة    ئف  ع ن  (ج

  ي  نصب ( 

 

  

3.) The effectiveness of a committee is 

determined by: 

 (   م       فع        جن      لال:3

  جم    ن    ( 
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a) The size of the organization 

b) The type of the organization 

c) The structure of the organization 

d) The finances of the organization 

 

 ن ع    ن    (ب

    ل    ن    (ج

          ن    ( 

 

  

4.) The effectiveness of a committee is 

determined by: 

a) The size of the organization 

b) The type of the organization 

c) The structure of the organization 

d) The finances of the organization 

 

 (  ي       ي   س      ؤ        جن ؟4

 إ   ة ع             ( 

   ع ل                               ى (ب

          ع  ض   ع              ع قب (ج

 إ   ة              ل ( 

 

  

5.) Which of the following IS NOT one of the 

efficient ways of gathering data? 

a) Questionnaires  

b) Financial reports 

c) Asking employees about their 

coworker’s job 

d) Meetings with different departments 

 

    ع     ج        ن  ؟(  ي       ي      ل إ  ى       5

        ن   ( 

                  (ب

  ؤ ل          ع  ع ل ز لائهم في   ع ل (ج

    ء       لإ               ( 

 

  

6.) Which of the following statements IS NOT 

true? 

a) People are more likely to answer 

anonymous questionnaires honestly 

b) Creating cross-functional teams can be 

useful 

c) Conducting at-risk metrics is good for 

gathering data 

d) Gathering the data is always easy 

 

 

 (  ي      ع              غ   ص  ح؟6

       جح     ج ب   ن س ع ى        ن      جه     ( 

  ص  

    ً               إن  ء ف     ع  ة      ئف  (ب

 إج  ء        س    ع ض              ج        ن   (ج

 ج        ن    هل   ئً   ( 
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7.) Implementing any new process requires 

__________.  

a) People  

b) Creativity 

c) Planning 

d) Gathering data 

 

     ب  ن     ي ع     ج   ة __________.7) 

   ن س ( 

  لإ   ع (ب

         (ج

 ج        ن   ( 

 

  

8.) Devise parameters within ________ 

parameters. 

a) Legal 

b) Operational 

c) A and B 

d) Neither A nor B 
 

  ض     ع     ض   ________    ع    .8) 

   عي ( 

     غ     (ب

     ب (ج

        ب ( 

 

  

 

9.) When should a committee be established?  

a) When you hire the right people 

b) Once the succession plan is laid out 

c) After six months of the company 

opening 

d) All of the above 

 

   ى  جب إن  ء    جن ؟9) 

 عن       م   ع         ص    ن      ( 

   ج    ض         لاف  (ب

  ع        ه      ف   ح        (ج

  ل         علا  ( 

 

  

10.) Keeping a tab on financial reports will show 

you the __________ of new policies. 

a) Size 

b) Effectiveness 

c) Head 

d) Title 

 

         علا       ب                      ه     10) 

 __________            ج   ة.

    س ( 

    ع     (ب

     س (ج

   عن    ( 
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Module Three: Review Questions 
 

 : الثالثةمراجعة الوحدة 
 

1.) The first step of the initiating process is: 

a) Mission and vision statement 

b) Succession plan 

c) Replacement plan 

d) Becoming a mentor 

 

 (      ة     ى في ع         ء  ي:1

         ه       ؤ   ( 

        ع قب (ب

            ل (ج

     ص ح    ً   ( 

 

  

2.) Which of these statements should not be 

included within the mission statement? 

a) Statement of Character 

b) Statement of Values 

c) Vision Statement 

d) Statement of Strategy 

 

 (  ي          ع         ن غي  ض  نه في         ه  ؟2

          ص   ( 

          م (ب

         ؤ   (ج

       لإ      ج   ( 

 

  

3.) Which of the following statements IS NOT 

true? 

a) Vision statements are similar to mission 

statements 

b) Vision statements concentrate on the 

current situation and strategies 

c) Vision statements focus on the values of 

the organization 

d) Vision statements may be created for a 

company, a project, or individuals 

 

 (  ي      ع              غ   ص    ؟3

    ن      ؤ       ه      ن      ه   ( 

    ز    ن      ؤ   ع ى    ض           ج            (ب

    ز    ن      ؤ   ع ى ق م    ن    (ج

      إن  ء    ن      ؤ                ع     ف    ( 

 

  

4.) Which of these statements should not be 

included within the mission statement? 

a) Statement of Character 

b) Statement of Values 

c) Vision Statement 

 (  ي      ع              غ   ص    ؟4

    ن      ؤ    إ ه م   ن س   ع ل  عً  ن     ف       ( 

  ؤ   ع ى      ل          ز    ن      (ب

  جب            ن      ؤ   ق   ة ع ى    غ    (ج

 غ   ً           م    ن      ه      ج ه    ن      ؤ   ( 
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d) Statement of Strategy 

 

 

  

5.) Which of the following IS NOT one of the 

benefits of being a mentor? 

a) Creating new contacts 

b) Learning new skills 

c) Getting job done easier 

d) Developing leadership 

 

 (  ي       ي      ل إ  ى  ز      ن     ً  ؟5

 إن  ء جه     ص ل ج   ة ( 

  ع م  ه     ج   ة (ب

 إنج ز   ع ل   هل (ج

             ة ( 

 

  

6.) Which of the following IS NOT among the 

main characteristics of a successful 

protégé? 

a) Committed to develop 

b) Able to accept feedback 

c) Eager to take new challenges 

d) Capable of working extra fast  

 

 (  ي       ي   س           ص ئص    ئ          ب   ن جح؟6

    ز             ( 

 ق   ة ع ى ق  ل    لا     (ب

    ص  ع ى    جه         ج   ة (ج

 ق   ة ع ى   ع ل    ع   ض ف   ( 

 

  

7.) The _________ is essential to the success of 

business succession planning. 

a) Committee 

b) Feedback 

c) Initiation process 

d) The mentor 

 

 _________ ض   ي  نج ح        ع قب   ع  ل.7) 

  جن  ( 

         عل (ب

 ع         ء (ج

 )        

 

  

8.) At the ________ stage, the goals and 

objectives are set.  

a) Development 

b) Initiation 

c) Mentoring 

d) Final 

 

 في       ________ ،   م            ف    غ    .8) 

    ن    ( 

     ء (ب

     ج ه (ج

 نه ئي ( 
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9.) Providing smooth transitions should be an 

important part of any ______ statement. 

a) Vision 

b) Mission 

c) A and B 

d) Neither A nor B 

 

  جب           ف    ن           جزءً   هً       ي      9) 

.______ 

    ؤ   ( 

    ه   (ب

     ب (ج

        ب ( 

 

  

10.) Mentoring is the best way to create 

smooth employee transitions by 

transferring _______between people. 

a) Titles 

b) Knowledge 

c) Dreams 

d) None of the above 

 

    ج ه     فضل       لإن  ء  ن                    ع  10) 

    ق ن ل _______          ص.

      ب ( 

    ع ف  (ب

    لام (ج

    يء       ق ( 
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Module Four: Review Questions 
 

 : الرابعةمراجعة الوحدة 
 

1.) Which of the following IS NOT one of the 

typical company strengths?  

a) Products 

b) Customer service 

c) Employee loyalty 

d) Growing markets 

 

 (  ي       ي      ل إ  ى ن        ة   ن   ج         ؟1

    ن ج   ( 

        ع لاء (ب

   ء      ف (ج

            ن     ( 

 

  

2.) Which of the following statements IS NOT 

true? 

a) The strengths of any business or 

department will vary 

b) The strengths of an organization are 

any external characteristics that provide 

a competitive advantage 

c) Strengths that are not easily imitated or 

matched by competitors are known as 

core competencies 

d) The strengths of an organization need 

to be nurtured and developed once 

they are identified 

 

 (  ي      ع              غ   ص    ؟2

      ف ن        ة في  ي ع ل    ق م ( 

ن        ة في    ن     ي  ي  ص ئص    ج     ف    زة  (ب

  ن ف   

  ع ف ن        ة    ي     هل                  ه     ق ل  (ج

    ن ف          ء          

  جب  ع           ن        ة في    ن      ج           ( 

 

  

3.) Which of the following IS NOT one of the 

typical company weaknesses? 

a) High employee turnover 

b) Disloyal customers 

c) Strong competitors 

d) Bad relationship with vendors 

 

 (  ي       ي      ل إ  ى ن      ضعف   ن   ج         ؟3

      ع  ع ل                ( 

   ع لاء غ        ص   (ب

    ن ف      ق   ء (ج

 علاق    ئ         ئع   ( 

 

  

 

 



 

11 

This document is a property of Asaseeyat Academy (Asaseeyat Academy is a service provided by Asaseeyat Consulting Service – COPY RIGHT PROTECTED © 

                   - )                                                              (                                  ©   

 

 

 

4.) Which of the following statements is true? 

a) Weaknesses do not affect company’s 

reputation seriously 

b) Weaknesses show advantages that 

competitors have over you 

c) It’s often impossible to address the 

weaknesses 

d) Weaknesses are external characteristics 

of a company 
 

 (  ي      ع              ص  ح؟4

 ن      ضعف ع ى   ع            ل ج ي   ؤ    ( 

   ه  ن      ضعف    ز       ي        ه     ن ف    ع    (ب

 غ   ً                    ل  ع  ج  ن      ضعف (ج

 ن      ضعف  ي    ص ئص      ج          ( 

 

  

5.) Which of the following IS NOT one of the 

typical company opportunities? 

a) Economic stability 

b) Demographic changes 

c) Research and development 

d) Mergers 
 

 (  ي       ي      ل إ  ى     ص   ن   ج         ؟5

            ق ص  ي ( 

    غ           غ  ف   (ب

     ث          (ج

 ع        ن   ج ( 

 

  

6.) Which of the following statements IS NOT 

true? 

a) Opportunities are not under control of 

the organization 

b) Opportunities need to be evaluated 

quickly 

c) Opportunities are an internal factor 

d) Opportunities of your company are also 

opportunities for the competitors 

 

 

 (  ي      ع              غ   ص  ح؟6

              ة    ن       ص  ( 

  جب     م     ص    ع  (ب

     ص ع  ل     ي (ج

 ف ص        ي   ضً  ف ص    ن ف    ( 
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7.) Which of the following IS NOT one of the 

typical threats? 

a) Poor customer service 

b) Price wars 

c) Demographic changes 

d) Buyer’s markets 

 

    ه        ن   ج  ؟(  ي       ي      ل     7

 ضعف        ع لاء ( 

    ب    ع   (ب

    غ           غ  ف   (ج

 )                

 

  

8.) Which of the following statements IS NOT 

true? 

a) Threats are external factors 

b) Threats cannot stop a company from 

reaching its goals 

c) Threats need to be addressed in the 

company’s strategic plan 

d) Negative environmental factors need to 

be addressed so that their impact is 

minimized 

 

 (  ي      ع              غ   ص    ؟8

    ه      ع   ل    ج   ( 

           ه           ن                ق     فه  (ب

  لإ      ج          جب  ع  ج     ه      في        (ج

 جب  ع  ج    ع   ل     ئ                ل  أ      إ ى       ( 

    نى

 

  

9.) SWOT analyses have been used since the 

19__’s. 

a) 20 

b) 30 

c) 50 

d) 60 

 

 __. 19 ن   SWOT م       م     لا  9) 

 ) 20 

 30 (ب

 50 (ج

 ) 60 

 

  

10.) Conducting a SWOT analysis is an 

important step to take before creating any 

business plan.  

a) True 

b) False 

 

   ة  ه    جب         ق ل إن  ء  SWOT ع  إج  ء     ل 10) 

  ي     ع ل.

 ص  ح ( 

   أ (ب
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Module Five: Review Questions 
 

 مراجعة الوحدة الخامسة: 
 

1.) Which of the following statements is true? 

a) Clearly defining the company’s priorities 

will decide what type of knowledge 

transfer will be covered in the 

succession plan 

b) The priorities of each company are 

pretty much the same 

c) Customer loyalty is not among the top 

priorities of a company 

d) None of the above 
 

 (  ي      ع              ص  ح؟1

            ضح                      ن ع ن ل    ع ف   ( 

    ي    م  غ   ه في        ع قب

          ل      إ ى          ي ن  ه  (ب

   ء   ع لاء   س                    ص ى        (ج

   ق   يء      ( 

 

  

2.) What is the acronym for a technique which 

helps you to prioritize what succession plan 

will address? 

a) SWET 

b) SWAT 

c) SWOT 

d) SWIT 
 

 

 

 

 

(          ص       ن      ي    ع   ع ى                   2

    لاف     ي   ع  جه ؟

    ة ( 

 SWAT (ب

 SWOT (ج

 )      

 

  

3.) Which technique should you use for setting 

goals and objectives? 

a) START 

b) SMART 

c) CHART 

d) MART 

 

 (         ب    ي  جب          ه             ف    غ    ؟3

 )       

       (ب

      (ج

 ) MART 
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4.) Which of the following statements IS NOT 

true? 

a) Goals should have specific instructions 

b) Goals need to be relevant to employees 

and their functions 

c) Goals need specific timeframes 

d) Impossible goals are highly motivating 

 

 (  ي      ع              غ   ص    ؟4

  جب          لأ   ف  ع          ة ( 

  جب              ف     ص                 ئ هم (ب

 إ ى     ز ن       ة    ج      ف  (ج

      ف              زة   غ    ( 

 

  

5.) Which of the following statements is true? 

a) Goals cannot be achieved without 

taking strategic action 

b) The goals can easily be achieved 

through a unique, undivided action 

c) Feedback usually make actions more 

complicated 

d) None of the above 

 (  ي      ع              ص  ح؟5

            ق      ف           إج  ء          ج   ( 

         ق      ف   ه        لال ع ل ف     غ    (ب

    م

 ع  ة     جعل         عل  لإج  ء         ع  ً   (ج

    يء       ق ( 

 

  

6.) Brainstorming and critiquing different ideas 

is important for checking the idea’s: 

a) Ease of implementation 

b) Expenses  

c) Efficiency  

d) None of the above 

(  ع    عصف     ني   ن       ف               ً    هً        ق    6

      ة:

  ه       ن    ( 

    ص  ف   (ب

      ءة (ج

  يء       ق   ( 

 

  

7.) Which of the following statements IS NOT 

true? 

a) The plan determines specific steps 

taken on a routine basis to achieve 

business goals 

b) Plans must be reevaluated from time to 

time 

 (  ي      ع              غ   ص    ؟7

                     ة      ع ى    س     ني      ق  ( 

     ف   ع ل

  جب إع  ة     م           ق  لآ   (ب

  جب ص  غ        ق ل   ن   في      ف          ج    (ج

        نً                هم     ( 
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c) The plan should be drafted before 

considering the goals and strategies 

d) It is important to be flexible with the 

plan 

 

  

8.) Which of the following IS NOT an element 

of a plan? 

a) Dates 

b) Actions 

c) Goals 

d) Expected outcomes 

 

 (  ي       ي   س عنصً   في      ؟8

        خ ( 

  لإج  ء   (ب

      ف (ج

   ن  ئج      قع  ( 

 

  

9.) When is the optimum time to develop a 

succession plan?  

a) As soon as you begin your business 

b) Six months in to it 

c) Once you have a clear grasp of your 

business 

d) None of the above 

 

          ق      ل               ع قب       ي؟9) 

   ج           ع    ( 

       ه  ف ه (ب

   ج                فهم   ضح  ع    (ج

    يء       ق ( 

 

  

10.) The priorities of each company will be 

quite similar.  

a) True 

b) False 

 

                ل           ه     ً  .10) 

 ص  ح ( 

   أ (ب
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Module Six: Review Questions 
 

 مراجعة الوحدة السادسة: 
 

1.) Before the execution of the succession 

plan, we need to establish: 

a) Means of execution 

b) Budget for execution 

c) Schedule 

d) Responsibilities of the involved workers 

 

 ( ق ل  ن           لاف  ، ن   ج إ ى إن  ء:1

    ئل    ن    ( 

   ز ن      ن    (ب

   ج  ل   ز ني (ج

   ؤ        ع         عن    ( 

 

  

2.) Which of the following IS NOT one of the 

most important things for choosing the 

leaders? 

a) Having the appropriate qualifications 

b) Communication skills 

c) The speed of executing the assignments 

d) Aligning of personal values with 

company values 

 (  ي       ي   س      م      ء عن              ة؟2

    ن        لا     ؤ لا  ( 

  ه        ص ل (ب

   ع   ن       ه م (ج

     ف ق         م     ص    ق م        ( 

 

  

3.) A formal evaluation is typically done every: 

a) Day 

b) Week 

c) Two weeks 

d) 30 days 

 ( ع  ة      م إج  ء     م    ي  ل:3

   م ( 

      ع (ب

     ع   (ج

 ) 30      

 

  

4.) Which of the following IS NOT a part of the 

evaluation? 

a) Were the goals achieved in the time 

frame established 

b) How often was the plan changed 

c) What is the feedback from the 

 (  ي       ي   س جزءً           م؟4

  ل  م     ق      ف في  لإ      ز ني        ( 

  م   ة  م  غ          (ب

     ي         عل    ف  ق       ة (ج

     ي       ب         ئ                           ( 
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leadership team 

d) What are the financial gains or losses 

from the current plan 

  

5.) The critical paths of a project DO NOT: 

a) Determine the order of each activity in 

the succession plan 

b) Show the time necessary to complete a 

project 

c) Show the expected outcome 

d) Show the resources necessary to 

complete a project 

 

 (              ج        ع     عل:5

           ب  ل ن    في        ع قب ( 

 إ ه      ق    لازم لإ   ل       ع (ب

  ع ض   ن  ج       قع  (ج

           لاز   لإ   ل       عع ض  ( 

 

  

6.) The critical paths of a project DO NOT: 

a) Determine the order of each activity in 

the succession plan 

b) Show the time necessary to complete a 

project 

c) Show the expected outcome 

d) Show the resources necessary to 

complete a project 

 

 (    ه              ج        ع      ي:6

 قص  قص  ة ( 

    ص   (ب

    ل ص  ي (ج

  فضل      ئم ( 

 

  

7.) Which of the following statements is true? 

a) The final plan should include every 

previous step 

b) The final plan should include mission 

and vision statements, overview, 

strategy and conclusions 

c) The final plan should include mission 

and vision statement, leadership team, 

recommendations and conclusions 

d) The final plan should include mission 

   ع              ص  ح؟(  ي    7

  جب      ض           نه ئ    ل    ة       ( 

 جب      ض           نه ئ           ه       ؤ   ، ن  ة  (ب

 ع    ، إ      ج       ن  ج  

 جب      ض           نه ئ           ه       ؤ    ف  ق  (ج

       ة      ص         ن  ج  

ه ئ           ه       ؤ   ، ن  ة  جب      ض           ن ( 

 ع    ،   ص        ن  ج  
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and vision statement, overview, 

recommendations and conclusions 

 

 

 

 

 

 

8.) Which of these steps should be the last 

element of a final plan? 

a) Overview  

b) Recommendations  

c) Conclusions 

d) None of the above 
 

(  ي                 جب           عنص        في       8

   نه ئ  ؟

 ن  ة ع    ( 

     ص    (ب

     ن  ج   (ج

    يء       ق ( 

 

  

9.) Executing a successful succession plan 

requires_______________ of the plan.  

a) Assigning roles and responsibilities 

b) Monitoring progress 

c) A and B 

d) Neither A nor B 

 

________________     ب  ن           ع قب   ن ج   9) 

.         

                   ؤ      ( 

    ق        م (ب

     ب (ج

        ب ( 

 

  

10.) Which of the following is a trait of a project 

leader? 

a) Has a history of follow-through 

b) Communicates well 

c) Is appropriately qualified 

d) All of the above 

 

        ئ        ع؟  ي       ي   10) 

    ه     خ          ع  ( 

     صل    ل ج   (ب

  ؤ ل    ل  ن  ب (ج

  ل         علا  ( 
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Module Seven: Review Questions 
 

 مراجعة الوحدة السابعة: 
 

1.) Which of the following statements is true? 

a) Gathering data once a succession plan 

is in place is completely different from 

gathering data before creating or 

changing a succession plan 

b) Gathering data once a succession plan 

is in place is significantly different from 

gathering data before creating or 

changing a succession plan 

c) Gathering data once a succession plan 

is in place is similar to gathering data 

before creating or changing a 

succession plan 

d) Gathering data once a succession plan 

is in place is completely the same as 

gathering data before creating or 

changing a succession plan 
 

         ص  ح؟(  ي      ع      1

ج        ن     ج    ض         ع قب     ف    ً   ع   ( 

 ج        ن   ق ل إن  ء     غ           ع قب

    ف ج        ن     ج    ض         ع قب    ل       (ب

 ع  ج        ن   ق ل إن  ء     غ           ع قب

     ن   ج        ن     ج    ض         ع قب    ه ج    (ج

 ق ل إن  ء     غ           ع قب

ج        ن     ج    ض         ع قب       ً     ل ج    ( 

      ن   ق ل إن  ء     غ           ع قب

 

  

2.) Which of the following IS NOT one of the 

techniques for gathering data? 

a) Meetings 

b) Metrics 

c) Surveys  

d) Internet 

 

   ي   س إ  ى   ن    ج        ن  ؟(  ي     2

   ج   ع   ( 

        س (ب

          (ج

  لإن  ن  ( 

 

  

3.) What should you do with the issues that 

don’t seem important? 

a) Address them immediately 

b) Address them if you have time 

c) Leave them aside and address them 

 (       جب      عل       ض       ي         ه  ؟3

     هم ع ى       ( 

     هم إ               ق  (ب

     ه  ج ن    ن ق ه  ف     ع  (ج
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later 

d) Leave them aside, since they don’t have 

much of influence 

 

     هم ج ن   ،   ث   س    هم              أ    ( 

 

  

4.) Which of the following IS NOT an advice 

for active listening? 

a) Do not interrupt 

b) Ask questions  

c) Repeat 

d) Respond 

 

 (  ي       ي    ع  نص     لا    ع    ع ل؟4

 )         

    ح    ئ   (ب

     (ج

 )      

 

  

5.) Which of the following IS NOT one of the 

evaluating techniques? 

a) Data gathered 

b) Self-reviews 

c) Manager reviews of employees 

d) Employee reviews of manager 

 

 (  ي       ي   س         ب       م؟5

  م ج        ن   ( 

      جع           (ب

    جع                   (ج

    جع        ف        ( 

 

  

6.) Which of the following statements IS NOT 

true? 

a) The ability to remain adaptable is 

essential to success 

b) Considering different ways of adapting 

the strategies is recommended before 

the evaluations 

c) Monitoring systems should already be 

in place to determine the effectiveness 

of the succession plan 

d) Gaining support for a succession plan 

means adapting it according to 

ongoing evaluations of its progress 

 (  ي      ع              غ   ص  ح؟6

      ة ع ى      ء ق          ف     ض   ي   نج ح ( 

  صى                        ف         ج    ق ل  (ب

          

 جب          ن         ق     ج  ة     عل        فع      (ج

   ع قب     

إ     ص ل ع ى    عم         ع قب  عني      ه   ف ً   ( 

                  ة      ه 
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7.) People naturally embrace change. 

a) True 

b) False 

 

    نى   ن س    غ       ل    عي.7) 

 ص  ح ( 

   أ (ب

 

  

 

8.) How can you garner support for a 

succession plan? 

a) Closely monitor plans 

b) Address all concerns 

c) A and B 

d) Neither A nor B 

 

   ف    ن         عم         ع قب؟8) 

    ق         ع    ب ( 

  ع  ج  ج          ف (ب

     ب (ج

        ب ( 

 

  

9.) Data should be gathered on a regular basis.  

a) True 

b) False 

 

  جب ج        ن   ع ى    س  ن  م.9) 

 ص  ح ( 

   أ (ب

 

  

10.) The ability to remain _________ is essential 

to success.  

a) Employed 

b) Adaptable 

c) Healthy 

d) Wealthy 

 

      ة ع ى      ء _________ ض        نج ح.10) 

    ف ( 

 ق  ل      ف (ب

 ص    (ج

       ء ( 
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Module Eight: Review Questions 
 

 مراجعة الوحدة الثامنة: 
 

1.) Which of the following statements IS NOT 

true? 

a) Implementing or altering a succession 

plan needs to be done strategically 

b) Changes that are not explained or 

monitored are more likely to fail 

c) Changes are always simple and easy to 

apply 

d) A change management plan and 

communication plan will work any plan 

to encourage the growth and 

development 

 

 (  ي      ع              غ   ص  ح؟1

  جب  ن        ع  ل        ع قب    ل        جي ( 

   غ         ي  م   م    ه        ق  ه   ي      ع ض   (ب

     ل

    غ        ئً           ه         ق (ج

  ع ل     إ   ة    غ            ص ل ع ى  ي      ( 

    ج     ن       ن   

 

  

2.) Which of the following IS NOT an element 

of a change management plan? 

a) Sharing goals 

b) Communication 

c) Developing structures and schedules 

d) Reducing the number of people 

involved 

 

       ي    ع  عنصً   في     إ   ة    غ   ؟(  ي 2

     م      ف ( 

    ص    (ب

         ه   ل    ج   ل   ز ن   (ج

     ل ع             ( 

 

  

3.) Why is developing a communication a 

priority? 

a) Because it is important in managing 

change 

b) Because it eases the work 

c) Because it accelerates the work 

d) None of the above 

 

 (        ع             ص ل       ؟3

  نه   ه   في إ   ة    غ    ( 

  نه   هل   ع ل (ب

  نه    ع   ع ل (ج

    يء       ق ( 
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4.) Which of the following IS NOT a part of the 

communication plan? 

a) Audience 

b) Presenter  

c) Source  

d) Contents 

 

 (  ي       ي   س جزءً            ص ل؟4

   ج ه   ( 

    م (ب

    ص   (ج

 )           

 

  

5.) Which of the following statements is true? 

a) Developing a change management and 

communication plan is harder than 

implementing them 

b) Change management and 

communication plans do not have clear 

steps for making transition easier 

c) Most business plans have a similar 

implementation process 

d) None of the above 

 

 (  ي      ع              ص  ح؟5

       إ   ة    غ            ص ل  صعب     ن      ( 

ض       ض   إ   ة    غ            ص ل          (ب

    ه ل   ن   ل

  ع م       ع  ل  ه  ع      ن           (ج

    يء       ق ( 

 

  

6.) Which of the following IS NOT one of the 

steps of implementing a change 

management or communication plan? 

a) Defining the process 

b) Changing the process 

c) Monitoring 

d) Modifying 

 

      ي      ل إ  ى        ن    إ   ة    غ           (  ي 6

    ص ل؟

         ع     ( 

  غ      ع     (ب

      ق   (ج

    ع  ل ( 

 

  

7.) Which of the following statements is true? 

a) Feedback that is not well delivered can 

cause troubles 

b) Feedback that is not well delivered 

usually doesn’t cause troubles 

 (  ي      ع              ص  ح؟7

   لا        ي  م   م      ه     ل ج              ب  ( 

     ل

في       ب    ع         ي  م   م      ه     ل ج       ل (ب

   ع  ة
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c) Feedback that is not well delivered 

never causes troubles 

d) Feedback is only a technicality 

 

    لا        ي  م   م      ه     ل ج        ب     ل (ج

         عل        ى   ن   ( 

 

 

 

 

 

 

  

8.) Which of the following IS NOT a 

characteristic of constructive criticism? 

a) Being specific 

b) Being respectful 

c) Being severe 

d) Involving the recipient 

 

   ي   س           ن      ن ء؟(  ي     8

 )   ً            

      ي        م (ب

          ة (ج

 إ           ي ( 

 

  

9.) Which of the following statements is true? 

a) Companies that invest in their 

employees are statistically more 

successful than companies that do not 

b) Companies that don’t invest in their 

employees are statistically more 

successful than companies that do, 

because they lose less money 

c) Statistically, both kinds of companies 

are equally successful  

d) There are no enough reliable statistics 

to prove that 

 

        ص  ح؟(  ي      ع       9

           ي        في      ه       نج ً        ن      ( 

  لإ ص ئ                 ي         

           ي          في      ه            نج ً       (ب

  ن      لإ ص ئ                 ي   عل     ،  نه       

     ً   قل

    ن جح  ن س      إ ص ئ  ً ،  لا   ن ع            (ج

     ج  إ ص ء       ق    ف   لإ         ( 

 

  

10.) Which of the following IS NOT a way 

of encouraging growth and development? 

a) Challenging employees by giving them 

new roles 

 (  ي       ي      ل          ج     ن       ن   ؟10

    ي              لال  ن هم     ً   ج   ة ( 

    ي              لال  ن هم    ع   نه ئ   ص     (ب

    فأة    ن    (ج
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b) Challenging employees by giving them 

strict deadlines 

c) Rewarding development 

d) Promoting internally 

 

       ج        ( 
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Module Nine: Review Questions 
 

 : التاسعةمراجعة الوحدة 
 

1.) Which of the following IS NOT among the 

most common obstacles?  

a) Lack of support from senior 

management 

b) Leaders are not flexible 

c) The plan is viewed as optional 

d) The employees are too slow 

 

 (  ي       ي   س          ع  ئق          عً ؟1

  عم     لإ   ة   ع   ع م  ج    ( 

      ة         ن   (ب

  ع                   (ج

             ئ     غ    ( 

 

  

2.) Which of the following statements IS NOT 

true? 

a) An effective succession plan requires 

more than employee buy in and HR 

oversight 

b) A unique plan can be efficient in all the 

problem situations 

c) A company that has a large talent pool 

may become complacent about 

succession planning 

d) Trying to do too much too fast will lead 

to frustration and failure 

 

 (  ي      ع              غ   ص    ؟2

   ء      ف     ب        ع قب    ع             ج    ( 

  إ   ف                

                          ة فع    في ج               ل (ب

ق   ص ح           ي    ه   ج  ع      ة          ب  (ج

   ض   ع           ع قب

  ؤ ي             م               ه م    ع      ة إ ى  ( 

  لإ          ل

 

  

3.) Goals need to be re-evaluated: 

a) Periodically 

b) All the time 

c) Very often 

d) Never – it’s optional 
 

 (  جب إع  ة     م      ف:3

    ل    ي ( 

 في  ل  ق  (ب

 في                (ج

 إنه       ي -  ً    ( 
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4.) Which of the following IS NOT a sign that 

goals need to be evaluated? 

a) Employee feedbacks show that goals 

are not available 

b) The goals cause too much stress 

c) The goals are too complicated 

d) The costs of goals outweigh the 

benefits 

 

 (  ي       ي      ل علا   ع ى ض   ة     م      ف؟4

   ه   لا          ف         ف غ      ف ة ( 

                      ف    ب  (ب

      ف  ع  ة   غ    (ج

      ف      ف           ئ  ( 

 

  

5.) Focusing on minor setbacks will: 

a) Have no effects 

b) Create a sense of failure 

c) Help you solve the problems 

d) None of the above 

 

 (       ز ع ى   ن               ف:5

   س  ه  آ    ( 

      ل  ق  ع    (ب

    ع   ع ى  ل       ل (ج

    يء       ق ( 

 

  

6.) Progress reports DO NOT include: 

a) Risks 

b) Projects completed 

c) Projects failed 

d) Projects continuing 

 

 (             م      ل:6

 )         

             نجزة (ب

 ف             (ج

               ة ( 

 

  

7.) Roadblocks are a rare event in succession 

planning.  

a) True 

b) False 

 

    جز        ي   ث ن    في          ع قب.7) 

 ص  ح ( 

   أ (ب

 

  

8.) Minor ________ are to be expected, and are 

no reason to give up on a plan of action. 

________     ص  ،    س  ن     ب      ي ع          ق  8) 

       ع ل.
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a) Risks 

b) Projects  

c) Risks 

d) Confusion 

 

 )         

          (ب

         (ج

 )         

 

  

9.) Once obstacles are 

identified___________________.  

a) Look for a way out 

b) Get the projects completed 

c) Choose alternatives 

d) None of the above 

 

 ____________________.  ج           ع  ئق 9) 

    ث ع     ج ( 

 إنج ز          (ب

           ئل (ج

    يء       ق ( 

 

  

10.) Focusing on _________will build 

morale and show succession planning 

success and failure.  

a) Risks 

b) Projects  

c) Progress 

d) All of the above 

 

   عن       ه        ز ع ى _________    ني     ح 10) 

 نج ح          ع قب      ل.

 )         

          (ب

      م (ج

  ل         علا  ( 
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Module Ten: Review Questions 
 

 مراجعة الوحدة العاشرة: 
 

1.) Which of the following statements IS NOT 

true? 

a) Success is the same for each company 

and for each plan 

b) When goals are created according to 

the guidelines of SMART goals and are 

monitored, re-evaluated, and adjusted, 

attaining them will be possible 

c) The goals and objectives of the 

succession plan will help determine the 

success of its implementation 

d) Succession planning requires the 

support of employees at every level 

 

 (  ي      ع              غ   ص  ح؟1

   نج ح    ن  ه   ل         ل     ( 

 SMARTعن      م إن  ء      ف  ف ً  لإ           ف  (ب

    م    ق  ه   إع  ة      ه    ع   ه  ،            ه     نً 

   ع قب ع ى         ى نج ح     ع      ف  غ          (ج

  ن     

     ب          ع قب  عم          ع ى  ل           ( 

 

  

2.) Which of the following IS NOT among the 

indicators of success? 

a) Achieved goals 

b) Growth demands goal plans to be 

adjusted or expanded 

c) Succession planning becomes part of 

the company’s culture 

d) Company is getting praises from people 

outside the company 

 

 (  ي       ي   س         ؤ       نج ح؟2

      ف         ( 

     ب   ن            ف   ع   ه         عه  (ب

  ص ح          ع قب جزءً        ف         (ج

   ج         صل        ع ى إ   ة        ص   ( 

 

  

3.) Which of the following IS NOT a good 

advice for transitioning? 

a) Carefully research what is needed 

b) Create an understandable schedule for 

the transition 

c) Be strict and pushy if it is necessary 

 (  ي       ي     ع  نص    ج  ة  ع       ن   ل؟3

    ث  عن    ع          ب ( 

 إن  ء ج  ل ز ني   ه م  لان   ل (ب

    ص  ً     ن فعً  إ    زم      (ج

   ف          ص ل          ن ء  ي  ن   ل ( 
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d) Provide open lines of communication 

during any transition 

 

  

4.) Which of the following statements is true? 

a) Transitioning into a viable succession 

plan is not always simple 

b) Transitioning into a viable succession 

plan usually not simple 

c) Transitioning into a viable succession 

plan never simple 

d) Transitioning into a viable succession 

plan is simple 

 

 ؟(  ي      ع              ص  ح4

   ع    ن   ل إ ى      ع قب ق           ق   ً      ً    ( 

   ئً  

ع  ة           ن   ل إ ى      لاف  ق           ق   ً    (ب

  ً    

   ن   ل إ ى      لاف  ق           ق   س          هل (ج

  ع    ن   ل إ ى      ع قب ق           ق   ً      ً   ( 

 

  

5.) Gathering data will help you: 

a) Instill a viable succession plan 

b) Have a guaranteed success 

c) Complete more than one aspect of the 

succession plan 

d) None of the above 

 

 (     ع   ج        ن   ع ى:5

 غ س      ع قب ق           ق ( 

  ه  نج ح  ض    (ب

    ع قب   ل         ج نب         ج  نب      (ج

    يء       ق ( 

 

  

6.) Lessons learned in this course will help you: 

a) Get rid of the problems 

b) Accelerate the work 

c) Make your job easy 

d) Put all together 

 

 (     ع        س         ة في      ة         ع ى:6

    ص          ل ( 

         ع ل (ب

  جعل ع     هلاً  (ج

  يء  عً ض   ل  ( 

 

  

7.) The main idea in this course is:.  

a) Succession planning requires time and 

effort  

b) You can easily accelerate projects 

      ة    ئ     في          ة  ي:.7) 

    جه     ب          ع قب    ق   ( 

    ن    ه                   (ب

          ع قب  جعل ع     هلاً  (ج

    يء       ق ( 
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c) Succession planning makes your job 

easy 

d) None of the above 

 

 

 

 

 

  

8.) Success is based on the _________________. 

a) Circumstances 

b) Goals 

c) A and B 

d) Neither A nor B 

 

  ع      نج ح ع ى _________________.8) 

      ف ( 

      ف (ب

     ب (ج

        ب ( 

 

  

9.) Successful succession planning will depend 

on the current condition of your business. 

a) True 

b) False 
 

  ع              ن جح    لاف  ع ى    ض       ي  ع   .9) 

 ص  ح ( 

   أ (ب

 

  

10.) Succession planning is an investment in 

_______. 

a) Your employees 

b) The life of your company 

c) A and B 

d) Neither A nor B 

 

          ع قب            في _______.10) 

 )        

 ع         (ب

     ب (ج

        ب ( 

 

 

 


